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(x+2)(y—3)=xy—3x+2y—6
(3a+4)(2a—1)=6a’—3a+8a—4

=6a’+5a—4
() (x=2y+3)3x—y)=x3x— y)—2y3x—y)+3(3x—y)
=3x%— xy—6xy+2y°+9x—3y

[8Y]
@)

=3x2—Txy+2y*+9x—3y

1) (x+2(x+7)=2"+2+TNx+2X7
=x"4+9x+14

2 (x+6)(x—4)=x"+(6—4x+6X(—4)
=x42x—24

B) (=2(y—H=y"+(—2—4y+(-2) x (-4
=y2—6y+8

@) (a—9(a+3)=a’+(—9+3)a+(—9)x3
=a’—6a—27

(5) x+7)2x—9) =222+ (T—9)X 22 +7X(—9)

=4x2—4x—63

(x+6) =22 +2x6X x+6°=22+122+36

(oY}
(2) (3x—5) =(32)*—2x5%3x+5%=9x*—30x+25
(3) (2x+3y)2=(202+2x2x X 3y+(3y) =4dx*+12xy+9y*

1) (x+6)(x—6)=2"—6"=2"—36
2) (2a—3b)(2a+3b)=(2a)*—(3b)*=4a’—9b*

(1) (x=5)x+T7)=22+{(=5)+Tjx+(=5)x7
=x242x-35
2 (x—8)??=x2—2x8x x+8°
=x2—16x+64
(3) (x+5y)(x—5y)=x2—(5y)
=x%—25y°
(4) (2a+3b)*=(2a)*+2X 3b X 2a +(3b)°
=4a*+12ab+9b*
6) (2x+ y)2x—y)=(22)"—
=4x2—y2
6) (Bx—1)8x—4)=(B32)*+{(=1)+(—4)}x3x+(=1)x(—4)
=9x*—15x+4

1) (x—1)—(x+2)x—8) =(x2—2x+1)—(x*—6x—16)
=x—2x+1—x"+6x+16
=4x+17

(2) 3(x+2y)(x—2y)+(x—3y)*—(2x+3y)2x—y)

=3(x?—4yY)+ 2% —6x2y+9y*— (42> —2xy+6xy—3y?)
=32 —12y°+ x®— 62y +9y* —dx*—dxy+3y*

=—10xy
7]
(x—8)(x+2)+(4—2)4+ 1) =2*—6x—16+16—x*
=—6x
x=250 #fRAT 2L
—6x 250 = —1500
224 yi=(x+y)*—2xy
45
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5

=

(@a+2b—c)*={(a+2b)—c)?
=(a+2b)>—2a+2b)c+c?
=a’+4ab+4b*—2ac—4bc+c*
=a’4+4b%+c®+4ab—4bc—2ca

A8 (a+2b—c)’=a’+(2b)%+(— +2><a><2b+2><2b><(—c)+2><(—c)><a

=a’+4b%+ c?+4ab—4bc—2ca

1) (x+y+3)x+y+2)={(x+ ) +3}(x+ ) +2}
=(x+ )’ +5(x+y)+6
=x%42xy+y*+52+5y+6

(2) (2a—3b+1)(2a—3b—4)={((2a—3b)+1}{(2a —3b)—4}

=(2a—3b)*—3(2a—3b)—4
=4a’—12ab+9b°—6a+9b—4

1) (P +x+ D)+ x+3)={(x>+2) + 1}{(x*+ 2) + 3}
=(x*+ 2+ 4(x*+2)+3
=x'420° 4 2?4 42+ 4243
=x'42x° 4522+ 4243
@) (2?4 32+2)(x2=3x+2) ={(x*+2) + 32}{(x?+2) —3x}

—1-

=(x*+2)°—(3x)*
=xtpdx’+4-9x%
=x'—5x’+4

3 (a®+ab+b)a®—ab+b)={(a’+b)+ab}{(a’+b?) — ab)

=(a’+b**—(ab)’
=a'+2a’*+b"—a’h?
=a'+a’*+b*

B
@

(x+DHx—1)2=(x+D(x+1)(x—1)(x—1)

=["2+1 G-I s somons
=l ) EOTHOLK
=(x2)?—222+1
1_2x%41
[13]
1) (x=2)(x+2(x2+4)={(x—2)(x+2))(x*+4)
=(x—4)(x*+4)
= (22— 42
=x'-16

2) (x—5y)x*+25y%)(x+5y)=(x+5y)(x—5y)(x*+25y%)
2+5y)(x—59))(x2+25y%)
22 —25y%)(x2+255%)
(x)*—(255%)°

=x'—625y*

B (a+bXa—b)a*+b>)*={a+bla—b)a’+ b))’
{(a®=bH(a®+02)
(a*—b)’=a®—2a'b"+b®

{(
(

[0
@D

(x=1)(x+2)(x+4)(x+7)

={(x= D+ D(x+2)x+4)) ={(x*+6x) = T}{(x>+6x) + 8}
=(x%46x)2+ (22 +6x) — 56 = x* + 122° + 36x°+ x>+ 62— 56
=xt+12x0°+37x%+ 61— 56

@!
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6) (y—12%=y2—2x12X y+122=y?—24y+144

() (2x+57%=(22)*+2X5X 22 +5° = 4x*+20x +25

(1) (x+2)(y+3)=xy+32+2y+6 8 (3a+2)°=(3a)°+2x2x3a+2*=9a"+12a+4 (1) (x+6)°—(x+12)(x+3) =(x*+ 122+ 36) — (x*+ 15+ 36)

@) (x+7(y—2=xy—2x+7y—14 9) (5p—8)*=(5p"—2x8x5p+8=25p>—80p+64 =x’ 4122436 —x>—15x—36

(3) (a—4)(b+8 =ab+8a—4b—32 (10) (3x+29)°=(32)*+2X 2y X 3x+(2y)* =9x* + 122y + 4y* =—3x

4) (k=110 —7)=ke —Tk—110 +77 (11) (—a+4b)=(—a)*+2X4b X (—a)+(4b)* =a®>—8ab+16b* 2 (x=3)(x+15)—(x—6)*=(x>+12x—45) — (x> — 12x+36)

(5) (a—2b)(c+3d)=ac+3ad—2bc—6bd (12) (Tx—29)P=(Tx)*—2X 2y X Tx+(2y)* =49x2 — 28xy+ 4> =124 12x— 45— x2+12x—36

6) (p+5q)(x—13y)=px—13py+5qx —65qy 1 1\2 2 1 —94x—81

() (2x+1)(x+3) =227+ 62+ x+3=22+Tx+3 13 <x+*> =x2+2X§X"+<§> =xttgrty @ (2543 @r45)2Zr—5) = (4x+ 125+9) —(4x°— 25)

(8) (2a—3)(a+5)=2a*+10a—3a—15=2a*+7a—15 (14) <x l) —x —2><1><x+<1>2—x2—x+l 4%+ 124+ 9—4x%+25

9 (8n+3)(7Tn—5)=561>—d0n +21n — 15=56n"— 191 — 15 2 2 & 4 120434

(10) (4x— )52 +2y) =20x>+ Bxy—5xy—2y°=20x*+3xy—2y° 1) (s- %)—x2—2x%xx+<%)z=xz—%x+%ﬁ (@) (2a—3(5a+2)+(a+5\a+6)=(10a>—11a—6)+(a®+11a+30)
(1) (9n+2m)(dm —3n)=36mn —2Tn*+8m*—6mn =8m*+ 30mn —27n* —10a2—11a—6+a+11la+30
(12) (a+b+c)a—b)=ala—b)+bla—b)+cla—Db) =11a2+24

=a’—ab+ab—b*+ac—bc
1) (x+2)(x—2)=x2—2"=22—4
2) (a+9(a—9=a’-9*=a’—81

5) (2b—a)®*—(a+5b)(a—b)=(4b*—4ab+a® —(a*+4ab—5b?
=4b>—4dab+a’—a’—4ab+5b*
=9b%—8ab

=a’—b*4ac—bc
13) (x4+y+1)(x—2y+3)=2x—2y+3)+ yx—2y+3)+(x—2y+3)

(
(
—x%_ _9y? _ (3) (x—6)(x+6)=x"—6"=x"—36 ‘ ‘ ‘
- 2””“’? 2y’ +3y+a—2y+3 W (r—12)x+ 12)= ' 12— 5 144 (6) (6x+5)(3x—4y)+(x+49)(2x+ ) =(18x7 = 9xy— 2039 + (24° + 9xy+4y?)
=x*—xy+4x—2y*+y+3 - 1842 Oy 92 2 2
14) (1= 92— y—0)=22— y—2)— 32— y— 1) (5) (5x+3y)(52—3y)=(5x)%—(35)?=25x2—9y* _;Exz ?gyz 0y"+ 207+ 9y +4y
=2r—xy—x'—2y+ i xy (6) (4a—9b)(4a+9b)=(4a)*—(9b)*=16a>— 815> =e0xm— 20y
L) 2y 1 1\2 1 T (3x—29)(2y43x) + (50— 29)%=(3x—25)(3x+2y) + (51— 2)*®
- _ 2 2L
. x°+2x+y y (7) <x+§><x ) x —<§) =1’ = (922 — 4y?) + (25x°— 202y + 4y?)
2
SUNESUAYS BN TRV UACHNS UACHIE ENPSIN s =922 — 4y’ 4+ 2522 —20xy+4y?
® (go-g0)ger50)=(5e) ~(50) =15~z 345"~ 202
1) (x+3(x+z )=x +;3+9)x-;—]3><9—x -;12x+27 ; © <%b+a><a—%b):(a+%b><a—%b>=a2—<%b>2=a2—4—19b2 8) (2a—6b)>+(da+3b)%=(4a>— 24ab + 3662 + (162 + 24ab + 9b?)
@) (x—4)Nx+8)=x+{(—4)+8)x+(—4)X8=x"+4x—32 =4a’—24ab+36b*+16a’+24ab +9b*
®) (16Xt =T)=12+{(=6)+ (=T}t +(—6)x(=T)= 1" 13t +42 o002+ 455
— — 2 5 P P
@ (a+12(a=2)=a’+[12+(=2)a+12X(-2)=a’+10a—24 ©) 3a+4(a—5)—2a—1)a+2)=3a’—a—20)—2a*+a—2)
2 2_ .2 j
5 <x %><x+%> e <7 %);H— X%—x +2x+% (1) (x=4(x=5=x"=92+20 (2) (x+6)°=x"+122+36 =3a2—3a—60—2a%—2a+4
3) (a+7(a—T)=a’—49 4) (x—2)(x+5=x>+3x—10 —4’—54—56
1 3 1 3 1 3 1.3 =
® <x+K><x 7>—x +|4+<—K>]x+ZX<—Z>=x2—5x—ﬁ (5) (x—2P=x’—dx+d (6 (3x+43x—4H=92>—16
(1) (=342 +6)=(x—3)x+6)=x*+[(~3)+6lx+(~3)X6 =2"+32—18 (@) (a—db)=a®~Bab+166°  (§) (4a—50)(da+5b)=164%-25p"
, 9 2 =x2+9r+14  (10) (2x+5y)*=4x’+20xy+ 25y’
®) (2x+3)(2x+1)=(2x)° +(3+1)><2x+3><1=4x2+8x+3 O (x+dx+D=x"+ ’:+ 10 25+ y)z x:’ o+ yz (2a+3)2—4a(a+5) =4a®+12a +9—4da’— 20a = —8a+9
9 (da+3)4a—T7)=(4a)*+(3—T7) x ba+3x (—7) =16a* — 16a— 21 D Bx+5(32—5=02"-25  (12) (5x—2y)’=2+"—2xy+4y o 1, o
(10) (8m —1(3m+4) = (3 (—1+4) X 3m+(—1)X 4 =9m® + 9m — 4 (13) (2a-+50)2a—5b)=da’~25b*  (14) (x+6/x—4)=x'+2x—2 SO =g BT D, KDLAOME
—_ — = 2— —_
(1) (8y—D8y—5)=(83)"+(—1—5) X 8y+(—1) X (=5) =643*— 48y+5 15 (x+4z—=2’-16 (16) (a+3a—B=a’~5a-2 —8x (=) +9=149=10
(12) (5x42)(52—6) = (5 +(2— 6) X 51+ 2 X (—6) = 252> — 20x — 12 17) (2a—3’=da®~12a+9  (18) (Br—4y)’=9x’—2xy+16y"
— _B\— y2
(13) (T2—3)Tx+9) = (727 +(—3+9) X Tx+(—3)x 9 = 492> + 42 — 27 (19 @r—32r+3=4x'=9 @) (++Hx=5=x"~25
@21) (y—2)(y—4)=y*—6y+8  (22) (x—4)(x+2)=2—22—8
23) (3x+59)2=9x2+30xy+25y%  (24) (2a+b)(2a—b)=4a’—b* 4 y’=(a+ 9 =2xy
25) (p=T(p+6)=p*—p—42  (26) (a—4b)a—Tb)=a’—1lab+28b? _(17)\? 289 o 145
(1) (x4+57=2"+2X5X 2+5"=x"+102+25 p=itp ’ p2 , e , =(7) —2x18=——36=—7
_ ? 192436 (27) (2a+3x)2a—3x)=4a*—9x (28) (5x—2y)*=25x"—20xy+4y
@ (a—0)=s'-2xBxs+8=rl- 122+ (20) (x—53)(x+2y)=2°—3xy—10y>  (30) (3a—2b)°=9a°—12ab+ 4b>
@ (a+10=a>+2x 10X a+10°=a>+20a+ 100 ety (e =
4) (x—3?%=x?—2x3xx+3*=2>—6x+9
(5) (x— 22X TXx+TP=x2—14x+49
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1) (a—b+1)’={a—b)+1}
=(a—b)’+2a—b)x1+1*
=a’—2ab+b"+2a—2b+1

2 (2a—b—c)?’={(2a—b)—c}*
=(2a—b)*—2(2a—b)c+ c*
=da’—4dab+b*—dac+2bc+c?
=4a’4+ b+ c*—4dab+2bc—4ca

(3) (a+2b+3c)2={(a+2b)+3c}®

=(a+2b)*+2(a+2b) x 3¢ +(3c)?

a’+4ab+4b*+6ac+12bc+9c?
=a’+4b*+9c’+4ab+12bc +6ca

(4) (3x+5y+42)°=((3x+5y) +4z2)*

=(3x+5)*+2(3x+5y) X 4z +(42)°
=9x2+30xy+25y° + 24x2 + 40yz + 162°

=9x2+25y"+ 1622+ 30xy+40yz + 242x
(5) (9x+8y—62)={(9x+8y) —62}*
=(9x483)2—2(9x+8y) X 6z +(62)°

=81x%+144xy+64y* —108xz — 96yz + 362°
=81x?+64y%+ 362"+ 144xy— 96 yz — 108z

(6) (=7x+5y—32)°={(—Tx+5y —3z}?
=(—Tx+5y)%—2(—7x+5y) X 3z +(32)*
=49x%—T70xy+ 25y + 422z — 30yz + 92°
=49x2+ 25y + 922 —T70xy— 30yz + 4221

AR (a+b+c)=a’+b*+c*+2ab+2bc+2ca 21~ TRIET 5 &

KDL D,

1) (a—b+1P=a’+(=b*+1°+2Xax(—b)+2x(—b)x1+2x1xa

=a’—2ab+b"+2a—2b+1

2) (2a—b—0)*=(2a)*+(=b)*+(—c)*+2X2a X (—b)+2X (—

=da’+b%+c*—4dab+2bc—dca
3)~(6) b [FAkRICAX A > TR T 5,

@E

1) (x+y+8(x+y+7)={(x+y +8}{(x+ ) +7}
=(x+3)*+15(x+y) +56
=14 2xy+ y*+ 152+ 15y +56

(2) (a+b+3)(a+b—4)={(a+b)+3}{(a+b)—4}
=(a+b)’—(a+b)—12
=a’+2ab+b*—a—b—12

(3) (x—2y+3)(x—2y—9)={(x—2y) +3}{(x—2y) —9}
=(x—2y)"—6(x—2y) —27
=1 —dxy+ 4y’ —6x+12y—27

(4) (3a—2b+5)(3a—2b—3)={(3a—2b)+5}{(3a—2b) — 3}

=(3a—2b)*+2(3a—2b)—15
=9a*—12ab+4b*+6a—4b—15
(5) (2x+3y—2)(2x+3y+2)={(2x+3y) —2}{(2x+3y) + 2}
=(2x+3y)°%—2*
=4x’+12xy4+9y*— 2%
(6) (4p—5q+2n)(4p—5q— 37 ={(4p—5¢) +2/}{(4p— 5 — 37}
=(4p—5¢°—n4p—5q) —

=16p>—40pq+ 25¢> — 4 pr+5qr — 67°
=16p%+25¢°— 67> — 40 pg+5qr — drp

1) (a*+3a+4)(a*+3a—7)={(a’+3a)+4}{(a’*+3a) -7}
=(a’+3a)*—3(a’*+3a)—28
=a'+6a’+9a*—3a*—9a—28
=a'+6a’+6a’—9a—28

2) (2% +62+1)(x*+6x—1) ={(x*+6x) + 1}{(x*+62)— 1}
=(x46x)2—-12
=24 124° 436221

(3) (x2=3xy+ y)(x%+3xy+ y2) ={(x*+ y2) = 3xy{(x2+ y?) + 31y}

=2+ 5"~ (32y)°
=x'422% + y'—92%y*
=x'—Tx%y 4yt

4 (a®+3ab—2b%)(a>—3ab—2b% ={(a®—2b? +3ab}{(a®—2b%) —

=(a’—2b0%%—(3ab)*

=a'—4a’b*+4b"—9a%"*

=a'—13a%%+4b*

1) (a—5%a+5)?*={(a—5)a+5)*
=(a?=25)%=a'—50a*+625
@) (x+9 x—2*={(x+4)(x—4)*
=(x2—16)?=x"— 3222+ 256
3) (p+30%p—30*=1(p+3a(p—30)
=(p"—9¢"*=p'—18p*¢"+81¢"
@) 21— A2x+ *={(2x— y(2x+ y)?
=(4x?— y)?=16x"—8x%y* + y*

(5) (3a—4b)%3a+4b)*={(3a—4b)(3a +4b)}*=(9a*—165%)*
=8la'—288a%h%+256b"

6) (Ty+2042x—"Ty) ={(2x+Ty)(2x—Ty)}* = (42— 49y?)?*
=16x"—392x%y? + 2401 "

§=

1) (x—4)(x+4)(x*+16)={(x— 4)(x +4)}(x*+16)
=(x2—16)(x*+16)

—3—

@

®3)

O]

= —
- S

®

=

= (Y- 162
=x*—256
(3x— y)N9x%+ yH)(Bx+ ) =(3x+ )(3x — y)(9x*+ y?)
={(3x+ y)(3x— y}9x*+ y?)
=(9x2— y%)(9x%+ y?)
=(9x%%—(y)?
=81xt—y!
=((x— x4y’ +y°)?
=(x* =y 2"+ 57"
={(x2— yH(x*+ y)?

(x— x4 p)Hx*+ y?

(2a —3b)(2a +3b)(4a*+9b%?
4a*—90%)%4a*+90)?
(4a®—9b%(4a®+9b?)?
(4a%)?—(96%)%?

16a'—816")?
=256a°— 25924 ‘b + 65616 °

(2a—3b)42a +3b)%(4a’+9b2)?=

(x=D(x=2(x=3)(x—4)=(x—D(x—4) X (x=2)(x—3)
(x2—5x+4)(x*—5x+6)
{(x*—52) + 4}{(x* —52) + 6}
=(x2—5%)2410(x2—5x) + 24
=x"—10x°+25x% +10x* — 50x + 24
=x"—10x°+35x% —50x + 24
(x=1f(x—2)x+3)x+4)={(x = D(x+3){(x—2)x+4)}
={(x%+2x) — 3}{(x2+2x) — 8}
=(x%+22)°—11(x*+2x) + 24
=at 4+ 4x’+ 4x®— 1122222+ 24
=x' 42’ —Tx? - 222+ 24
(x=2)(x=3)(x+4)(x+5=(x—2)(x+4) X (x—3)(x+5)
=(x%+2x—8)(x*+2x—15)
={(x*+22)—8}{(x*+22)— 15}
=(x%+22)2—23(x%+2x) + 120
=x"+4x°+ 457 — 23x% — 46x+ 120
=" +4x°—192°— 462+ 120
(x+D(x+3)(x=5)(x =T ={(x+ D(x =5} (x+3)(x—7)}
=(x?—4x—5)(x*—4x—21)
={(x2—4x) —5}{(x2—4x)—21}
=(x?—4x)*— 26(x* — 4x) + 105
=x'—8x°+16x°—26x%+104x+ 105
=x'—8x°—10x°+104x+ 105
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[@P=[@], 2x[MIx3=30 =a’—9+2a*+4a+2
koT  [@M=5 [@)=2 30’4 da—T
1) (3a+27%=(3a)*+2-3a-2+22 8 —9x?_ o
1) (3a+2) <93a2> +2-3a-242 (5) Bx+[M])3x—8) =9« @) (x+3)(x=7)+(x—3)*—(2x—3)(x—5)
y s : 1154-212;1+4 2 o e =8>2=642 =(x?— 45— 21) + (x*— 6x+9) — (24— 13x -+ 15)
x— = —92.5x- — T =[ — 5 5
5)2=(51) -2y +(2y) (Tx—2([M]x+2)=[D] »*—4 —x?—dx— 21+ 22— 6x+9—2x+13x—15
— 2542~ 20xy+ 4y [@]=7. [@]=49 =3x—27
3 4 _ = 2__ 92 4
© Wr+3ite=g)=°=3 ® (5a-+3b)5a—36)—(2a—7b)" — (a—4b)a-+25)
—16x2—9 =(25a2—9b?) — (4a®—28ab+49?) — (a*— 2ab —8b?)
— — 2 2 P
@) (—2b—a)a—2b)= (a+2b)a 2)= —{a?—(2b)% () (ab—6)ab+3)=a®b’—3ab—18 (2 <x—%y><x+%y>=x2—%y2 =25a>—9b>— 4a®+28ab — 496 — a4+ 2ab + 8b*
=—(a®—4b? :
) =20a’+30ab —50b°
o gtrap? (3) (—2a+5b)*=4a>—20ab+25b> (4) (2a+3)2a+7)=4a’+20a+21
B) (x+6)(x+7)=x2+(6+T)x+6-7 6) (=ab+o(—ab—c)=a’h’—c* 6) (Ty—2)(Ty—6)=49y—56y+12
o 13e a2 (1) (a®+2b)'=a'+4a’+40%  (8) (dx—y)(y+4x)=16x"—y* (1) (x4 29+ It 2y—1)={(x425)+1
x+2y x —1)={(x+ _
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—fa+(b+c)a—(b+c)l+{a—(b—c)la+(b—c)}
=—{a*~(b+of}+{a*~(b~c))
=—a’+(b+c)l+a’—(b—c)?
=(b+c)—(b—c)

2yt =(x4 y+ 2 —2xy+yz+22)=7"—2-14=21



(5] el pe k)

@R
1 + 1 _l+a+l—a _ 2
I-a " 1+a (I-a(l+a) 1-a®
2 + 2 —9. l+a’+1-a® 4
1—a®  1+4a? (1—a®(1+a? TP
4 + 4 . l+a'+1-a' 8
1—a'  1+4a' (1 aY(1+a" BT
Lo (530)= 8
1+a
1+a®+1-a® 16

T ) 1+a)  1-a®

HIE)

INE WS ORS A S Thole EOME n (n1T 0L DY) L35 L,
INEWTOHIT 5Xn+2=5n+2
REWHOEHT 5n+3
LERIhb.
2D 2 ODEE ORI
(57 42)(5n+3) =25n2+ 251 +6

=25n24+25n4+5+1
=56n2+5n+1)+1
Sni45n+1 3K THLMND, 5 TholmtED0AVIE1 ThD,
KA
1) Bz, 2o0aREE1E3ETDL
A=1+3=4
B=3-1=2

IDEE X=4*-2"=12

X 1% 8 DfFETIEAR N,

$oT (7)1 () 3 (7) 12

(2) A=a+b, B=a—b Th2o,

Zoex  X=(a+b?—(a—b)
=a’+2ab+b*—(a?—2ab+b?
=4ab

a, bIZARETH 500, 4ab ik 4 OfETHD

LMo T, XiEWoTh 4D THD

(3 @&y 4ab=2016
ab=>504

ZOXE =T a, bDHIB, a—b DERL-EHNEL L LDEHRDITD,

504=2°%3*XT7 ThHNnb, KD 250 H KL

21, 24



